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1. A company makes concrete bricks that are shaped like rectangular prisms. Each brick is 5 inches long, 4
inches wide, and 3 inches tall. How much concrete will they need to make 1500 bricks?

2. The graph of a function is given below.
Give all y-intercepts and x-intercepts shown.

If there is more than one answer, separate them with commas.

y-intercept(s):

x-intercept(s):
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3. Use the graphof the function [ below to find the following.

Al values at which f has a kocal minimum
Alllocal minimum values of [

Ifthere is more than one answer, separate them with commas.
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5. Rewrite the following without an exponent.

-2

9

6. Multiply.
(3v+3y—4)(4v-y)

Simplify your answer.

7 Use synthetic division to find the quotient and remainder when —x3 + 3.3(2 + 6x — B is divided by
x —4 Specifically, complete the synthetic division table below, and write your answer in the following
Remainder
x—4

form: Quotient+





